ELECTRICAL MATHEMATICS
TEST 1 - TRIAL TEST/ASSIGNMENT

Notes:

usage,
.

1. Calculate the following, manually.

a. 2-4+5x6-3 =

This test covers order of operations, fractions, significant figures, rounding, percentages,
ienti i ‘ing notation, SI units, errors, approximations.

The final test will be closed book, calculator permitted.

It is ESSENTIAL to show working/steps, where asked, otherwise no marks can be given.

Q- 1202 = ~3450 -3 = =3+)F :,g

b 152+ 1054 = AS < BF A-U= USa-U=Ur-Y = 4

o @2-3x2+10n = (4-6+10)[2= (-

4 12-20(10-5 = 13— (S=13-Y =

avio) /2= 8fa=H,

2
moS

o 15-@+6-2)+2x3 = S—(10-2)F WD =AS—B+axD=

S 1S-2+6 =346 4D
I

2. Calculate the following, manually, showing all steps.
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3. Complete the following table by filling in the blanks:
Usual Decimal Scientific Notation Engineering Notation
a. 510.0 5.4 x 10* sS40 .0
b. 1S 00 75x 10" IS AO
c. 23 00 o0 2. 2% 107 22x10°
d. 0.0000022 2.3 x 106 . x 1076

4. Perform the following calculations, manually, showing the steps taken:

o 22x10 x3x10% = (2.2x3) I ¢ 6 10 = 66
. . ] -
b (44x109+(22x10%) = %) X ‘\O@ 2), L= AC :'\9\5)

3 3 i
. 22x10° +2x10° = DD _\_c_?’*&xlg = (34Y) 107 O]

y -
d 6000/(2x10")=(g,<\03>% (3 loq):(%)(log = 330 = Oé

5. Complete the following table by filling in the blanks:

a. b. c. d. e.
Number Form | 3.3x10°Q 5x10% A O.23V [0 0WV| 900V
Engineering
e I MR BwA 300 mV 200 kV IV
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6. What is the symbol of AND value for the following prefixes? Eg milli has symbol m and a
value of 10°

a. Kilo — U&X - 4(33

b oo - (p)- 107
v — (M)~ 10"
d. Nano — (Vﬂ - \Cq

7. Round off the following numbers to 2 decimal places:
a 7333333 = +23D.33
b 6ssss = ©.56
e oo = 0.83
4 000044332 = ©. 00
e a9 = US. OO
8. Round off the numbers in question 7 to 3 (three) significant figures:
a 733333 = DD
b 65555 = ©.56
¢ 02279 - 0k
4 ooz = O.O00OMUS
e 44999 = 4s5.0
9. Convert the following decimals and fractions to percentages, and vice-versa.
a % = Uy 100 =0.3Sx100 = AS %
b 045 =
o
c. 50% = —\%5 = 93
4 110% = MO - 4.4
[Sle} —_—
@ 10% = /oy = O
£ = —g*\oo: 2232 %
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10. For the following, express the first quantity as a percentage of the second:

a. 7 students, 10 students = 3: x QO = 0.F = 100- Foe
b. 100V, 1kV = ll%%o ><|C>O— O.1x 00 = 0%
¢ 10mA 1A = O»_‘O\ w100 = 1%
4 6000500 = €0, 100 = LAO%
50

11. Calculate the lower and upper values for the actual resistance of resistors with the following
nominal values and tolerances:

541000 - Sp . . Lower Lt = 1000-S0= ALK
10 7 Upper At = 1000480 = (0D
1.0

b 470K, £10% M Y Laner \wad = 043 <423 Q.
Upper bt =F0+(F= 5

a. 1000 Q, £5%

12. Where is the evacuation point for the Electrical Mathemaucs classroom (in case of cmc:q,c:ncy)r7
At Ahe dostont Seunds in doutk of e cbug
x I every dest you iy hind CHS queshouns.
TP you dfe unsire hoto answer Thetu ask your keluer

13. Usinga calculator calculate the values of the followmg expressions AND also manually
estimate an value for these Show how the estimate was obtained.

a. 32x4.77+722

Tshimskion: Bx5+¥2= 1S+3a=284,
Caleuldbow: 81 .46Y4

b. 169° 5
Eobimakiow 3xF = 2,49 :iﬁ
Caleulafous 4.5

------- END OF TRIAL TEST/ASSIGNMENT - Check your work! -------
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